BASIC LAB EXERCISES USING LINUX, SUNIX AND MATLAB
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LINUX: CONTENTS
Logging In


-> CONTENTS
Type your login id, followed by your password

Running a Remote Session on "lgc10" and forwarding it to your local machine CONTENTS
· ssh –X yourname@lgc10.geol.lsu.edu This command will redirect images to the machine you are sitting at.
[image: image4.wmf]
· answer "yes" to the question involving "authenticity". You should only see this question the first time you log on from each machine.

· You should see a "prompt" such as

 Lgc10:/home/yourname %

·  ls -l  (see what's in your directory)

Running a program

-> CONTENTS
%/usr/local/admin/newuser   

(Answer defaults to all the questions)

This program called newuser sets up all the operating system to work in the simplest fastest way, under a windowing system called mwm (Motif Window Manager)

Editing a file


-> CONTENTS
%gedit .cshrc

move down until you see the line that has the word "source" in it

on the next line write:

# This is My file
leave gedit

% source .cshrc  (updates the behavior of your operatng system)

Copy a file to  your home directory

-> CONTENTS
%cp /home/refseis10/dow … use Control D or TAB to complete your 

%cp /home/refseis10/download/XXX …  use Control D or TAB to complete your
%cp /home/refseis10/download/XXX…  use Control D or TAB to complete your

Copying files across the web securely using sftp ->CONTENTS
From your local machine type

%sftp loginname@remotemachinename

Once you are connected to the remote machine, the following basic instructions will get  you going:

help

get 
download a file over to the directory on the local machine

put 
upload a file to the remote machine

ls 
list CONTENTS of the remote machine

lls 
list directory CONTENTS of the local machine

pwd l
working directory name of the remote machine

lpwd 
working directory name of the local machine

Deleting files


-> CONTENTS
%rm filename

Finding files


->CONTENTS
%locate filename

Renaming files 


->CONTENTS
           %mv filename

Assigning values to variables in shell scripts
-> CONTENTS
A free linux shell scripting tutorial:

http://www.freeos.com/guides/lsst/
	Example 1

The text ‘hello’ is assigned to the variable named output  The value of the variable is expressed as $output The variable name can be any word.
	Example 2

The number 1 is assigned to the variable named value.  The value of the variable is expressed as $value 

$1 is assinged value 2 from the command line (outside the shell script). This number is the first value on the command line after the prog name 

Arithmetic calculations are carried out by a shell program called expr.

	%prog_name
	%prog_name 2

	#! /bin/sh

output=’hello’

echo $output
	#!/bin/sh
echo "Enter the two numbers to be added:" 
read n1 
read n2 
answer=$(($n1+$n2)) 
echo $answer


Plotting your results 

-> CONTENTS
% gimp

Experiment capturing a screen dump, opening it and then printing it.

Repetitive tasks 


->CONTENTS
for action in ‘came.’ ‘saw.’ ‘conquered.’ 

do

        echo 'I ' $action

done

The variable called action has three potential values.  Each value is a word that is sent to the screen using echo within the do …done set of instructions.  The $ sign in front of action assigns its value to be sent to the screen each time following the word I.

Creating an archive of directories and their contents

-> CONTENTS
When it comes to collating all your directories and their contens into a single manageable file that can keep a record of the directory structure use the useful instruction called tar as follows:

%tar –czvf tarred_file_name directory_to_archive

A file called tarred_file_name is created. Usually it is best to give your tarred file a *.tar ending so you can automatically know what type of file it is in future.  In order to open up and generate all directory tree with all its leaves (which are the files contained within ) use the following command:

% tar –xzvf tarred_file_name 

If you choose to get ONLY a LISTING of the contents of a tarred file without rebuilding the directory tree and all its contents you can instead use the following command:

% tar –tzvf tarred_file_name >output_file or if you want to output the listing to the screen use:

% tar –tzvf tarred_file_name 
Concatenating files 

-> CONTENTS
When you have one files you would like to append to another use the 

cat file1 file2 > file3

SUNIX

Examine a Seismic Data Set

-> CONTENTS
%suxedit 1000_a.su

>g 1 
(this graphs the data)

Fourier Transform


-> CONTENTS
>f1

(this graphs the strength of the frequency content at trace #1)

>f24
(this graphs the strength of the frequency content at trace #24)

> h

(provides help to the user)

All data traces have a "header" that consists of descriptive variables, e.g. length of the data set, date it was collected etc.

Display


-> CONTENTS
% suximage < 1000_a.su   (The < or redirect symbol sends the data set file into this program)

Bandpass Filtering


-> CONTENTS
% sufilter <1000_a.su f=0,6,300,400 | suximage     (The | symbol or "pipe" streams the output of one program into the mouth of the other program)

Exercise 1


-> CONTENTS
Put all the above instructions into a script called "my_first.sh". Confirm that this file runs correctly
Notch Filtering 

% sufilter  < 1000_a.su f=3,6,40,50,60,70,80,180,200 amps=0.,1.,0.5,0,0.5,1.,1.,0

Notes: Verify your filter worked. Run suxedit and plot out the frequency spectrum to examine whether a notch filter has been applied.

Application:  To remove 50-60Hz electronic noise in data

Automatic gain control

->CONTENTS
In order to adjust for changes in signal strength in time along individual traces apply the following:

% sugain < 1000_a.su  agc=1 wagc=0.05 | suxwigb title="AGC=1 WAGC=0.01s"

                     % sugain < 1000_a.su  agc=1 wagc=0.01 | suximage title="AGC=1 WAGC=0.01s"


The "clip" value that appears is the amplitude number above which all your traces are nulled out, i.e. they are assigned a white value, i.e. they are lumped into a common meanngless value. As a test, why don't you run the same instructions above, but this time include a clip command, say clip=1 and start varying the value of the clip by orders of magnitude.  For example:


%sugain < 1000_a.su agc=1 wagc=0.01 | suximage title="AGC=1 WAGC=0.01s" clip=1


%sugain < 1000_a.su agc=1 wagc=0.01 | suximage title="AGC=1 WAGC=0.01s" clip=10


%sugain < 1000_a.su agc=1 wagc=0.01 | suximage title="AGC=1 WAGC=0.01s" clip=100

Exercise 2


-> CONTENTS

Create a script that ….

(1). reads a file 1000_a.su, (2) removes frequency below 120 Hz, (3) applies automatic gain control to compensate for geometric spreading and (4) plots it to the screen (5) hand in a hardcopy or e-mail me a *.gif file by the next time we meet on September 24 at 12.30 p.m.

Exercise 3 Iterative tests for filters

-> SUNIX CONTENTS
Create an iterative set of instructions that will allow you to test the data set for the best set of filters.  The ground roll is in the lower frequency range (~<= 80Hz).  Try at least the following four filter sets:

3,6,20,30   
20,30, 60,70  
70,80,300,400 
80,120,500,600

for filter_values in $filter1 $filter2 $filter3 $filter4

do

        sufilter <71799test.su f=$filter_values amps=0,1,1,0 | sugain wagc=0.1 a

gc=1 |suximage

        echo 'hello' $filter_values

done

For this exercise you are expected to hand in two scripts and one image.  The first script will show the interactive tests you conducted for different filters.  The second script will show the final set of filters that best remove the ground roll but keep the rest of the data.  An image of the best-filtered data set with the ground-roll minimized is what I expect to be handed in by September 30, 2005 at 12.30 p.m.  Make sure you understand the accompanying linux script exercise.  You can find the data set you need to carry out this exercise on lgc10 at /home/refseis10/shell_exs.

Killing bad traces


-> SUNIX CONTENTS
sukill <1001.su min=16 count=2 >1001_killed.su

min in the number of the first trace to kill and count is the number of traces starting with min that will be deleted.

Compare the same file before and after traces 16,17 and 18 have been removed, e.g.

suximage < 1001.su 

suximage <1001_killed.su
Reordering traces


-> SUNIX CONTENTS
susort <1001.su –tracf |suximage 

tracf is the header value that is used to reorder the traces. In this case tracf is the trace number. The negative sign implies that the reordered file will have the traces ordered according to the decreasing value of tracf.   So if tracf = 1,2 ,3…. 24 in the input file, tracf=24,23,22,21,20 in the output file

Here we reverse the order of the traces according to their sequential trace number in the file (tracf) and traces 1 through 24 will be plotted in reverse order, i.e. 24 through 1.

Cutting out a window of data


-> SUNIX CONTENTS
If only part of the data set needs to be used, for example only the first half second we can use suwind

suwind  <1001.su key=tracf min=1 max=24 tmin=0 tmax=0.5 |suximage

In this case we have selecting all traces who have values for tracf between 1 and 24 and all samples between the time 0 s and half a second.
An example that shows how to kill traces, reorder and cut a window of data from a certain data set



-> SUNIX CONTENTS
While logged into your lgc10 account, go to directory refseis10/TJHughes_line01 and copy over to your local directory the following file: data.tar

Untar this file. Within the directory you create called walkaway71799 you will find data files and a script called Xamine.sh. This script shows the implementation of sukill, susort and suwind

Exercise 4 on susort, sukill nd suwind

-> SUNIX CONTENTS
Examine the file Xamine.sh from the immediately previous section.  Identify susort, suwind, sukill.  These S*nix programs are used to prepare a pseudo-walkaway shotpoint gather for viewing.  

Give me the reasons you think why susort was used, why suwind was used and  why sukill was used?  Please give me one reason for each.  You will need to image the seismic data to see how the files look BEFORE they are affected by suwind, susort, and sukill as well as AFTER.  The differences should allow you to see why each program was used and for which reasons. Due Date, via e-mail: Friday, October 28, 12.30 p.m. This is a dropdead date and time with no extensions.  You can answer in text in three to four sentences only.  But, you will have to view the data and perform sukill, susort and suwind. You do not have to send me any images you created. The reasons you give will show that you understand what occurred.

How to locate the meaning of each header word
-> SUNIX CONTENTS
If you want to know what tracf means then type

sukeyword tracf

The output will appear on the screen explaining that tracf is the trace number within the field record

How to change a header word value

-> SUNIX CONTENTS
Header values are changed according the following formula:


Header value = a  + b * (i/j) + c(i/j)

For the following example a,b,c,I and j can be seen to represent:

a  
first value of each group of traces

b 
value of increment between traces in a shot gather

c 
increment in value between thefirst traces of adjacent shot gathers

i  
trace number within the whole file ,e.g. 0,1,2,3,4,5,6,7,8 Note that I starts at 0.  We do not need to set I in the following example.

j 
number of traces to jump between shots

If b or c are equal to 0, then their products with (i/j) are also equal to 0 and there is no change to the patterc of the header value within adjacent shot gathers.

For example: 


key=offset (shot-receiver distance)


key=sx (x co-ordinate of shot position)


key=gx (x co-ordinate of geophone position)

 
X is increasing and positive
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   sx=0
         gx= 33         36           39            SHOT #1    



    offset= 33        36           39



                  sx=3
                       gx= 36         39           42
SHOT #2



                    offset= 33        36           39



                         sx=6                        gx= 39         42           45
         SHOT #3



                          offset= 33        36           39

sushw < filename  \

 
key=sx,offset,gx,fldr,tracf
\


  a=0,33,33,1001,1

\  # first value of each group of traces


  b=0,3,3,0,1

\  # increment between traces in a shot gather


  c=3,0,3,0,0

\  # increment between first traces of each shot


  j=3,3,3,3,3

\  # number of traces to jump between shots

         >filename_out


We can simplify the above into several steps:

Step 1:  set the sx field of the first 3 traces to 0, the second set of 3 traces to 3, the third set of 3 traces to 6; i.e. the shot stays at the same place for whole shot gather and only increments when a new shot is taken (i.e. every 3 traces)

sushw < filename 

\


key=sx a=0 b=0 c=3 j=3  …

Step 2:  set the offset field of the first shot (first set of 3 traces) to 33,36,39 , the second shot (next set of 3 traces) to 33,36,39, and thelast shot (third set of 3 traces) to 33,36,39.

…| sushw


\


key=offset  a=33 b=3 c=0 j=3 …

Step 3: set the X oordinate of the geophone position to 33, 36, 39 for the first shot; to 36,39,42 for the second shot (next 3 traces), and to 39,42,45 for the last shot (final 3 traces)

…| sushw


\


key=gx a=33 b=3 c=3 j=3 …


In a full script he above 3 steps together can look like:

#!/bin/sh

set x

filename_in=’1000.su’

filename_out=’1000_geom.su’

sushw <$filename_in

\


key=sx a=0 b=0 c=3 j=3 
\

| sushw


\


key=offset  a=33 b=3 c=0 j=3          \

| sushw


\


key=gx a=33 b=3 c=3 j=3 
\

>$filename_out

or we can make a single call to sushw and place the variables together, in its briefest form:

#!/bin/sh

set -x

filename_in=’1000.su’

filename_out=’1000_geom.su’

sushw <$filename_in

\


  a=0,33,33,1001,1

\


  b=0,3,3,0,1

\


  c=3,0,3,0,0

\


  j=3,3,3,3,3

\


>$filename_out

How to calculate CMP/CDP in headers

->TOC SUNIX CONTENTS
suchw imilar to sushw but where we use the header values to do the math:

value of key1 = (a + b* value of key2 + c * value of key3)/d

 We use the formula that  CMP = location of source + (source-receiver offset )/2

suchw < filename_in
\  #input file name
 key1= cdp

\ # output header word 

key2= sx

\ # first input header word – - source x-coordinate

key3= offset
\ #second input header word

a=202

\ # first CDP/CMP number * 2

b=2

\ # 2*CMP increment , e.g., 101, 102, 103

c=1

\ #  multiplicand for key3
d=2

\ # divisor of all

< filename_out
An example for making CMP values in headers is available from lgc10 at

/home/refseis10/shell_exs/makecmp.sh
How to fix a data set with a variable time delay or a data set that has false time breaks or how to cross-correlate two traces.





-> TOC SUNIX
Cross correlation describes the similarity between two time series.  For us a trace consists of a series of amplitude values at regular intervals of time or a time series.   Mathematically, cross-correlation is like convolution, but where none of the traces are reversed prior to the steps involving shifting, multiplication and addition (See lecture PowerPoint Presentation entitled “XCor” for cross-correlation and the PowerPoint presentation entitled “CMP” for convolution, both hyperlinked fromthe main syllabus pertaining to this class ).

Let’s start by assuming that the geology does not significantly change from between two adjacent shots.  Then, if for one shot gather, the recording time accidentally starts at a different time with respeect to the shot going off to that of another shot gather the true delay must be reset. Why? 

Well, whereas delay keyword  in the headers will have the same value the data will be at the wrong time. We must change the delay header value so that the data should appear at the correct time.




Once the data is corrected for this wrong delay value then we must make all the shot gathers have the same length in time starting at tmin=0 (shot time)  You will find however, that before you can do that the data you have corrected to perhaps a later time now has missing data.  What to do???  

A worst-case scenario is that the seismograph started recording very late after the shot went off and that you have irretrievably lost data.  What to do???
To see how this might be done copy to your directory, then modify accordingly and run the following script that is located in /home/refseis10/shell_exs/change_delay.sh.

A cross-correlation between traces can be used to estimate the differences in the times between two identical events.  You can see how this might be done by looking at  /home/refseis10/shell_exs/study_CORRELATION

How to carry out Normal Moveout and Stacking 

-> TOC SUNIX
I recommend that once you have populated your header values for offset and CDP you should sort the data before sending it to NMO.

susort <file_in >sorted_file_out cdp offset

A brute stack can be obtained by first trying a constant-velocity stack, say at 1500 m/s.

You can try various constant velocity stacks at different constant velocities.

sunmo < sorted_file_in vnmo=1500 |sustack cdp |suximage clip=1
After you obtain an initial brute stack you are ready to start refining many of your processing parameters.  It is during this stage that your sunmo can read the results of additional velocity analyses.  More on that later…

AN example of a script containing these instructions, among others, is available from lgc10 at 

/home/refseis10/shell_exs/study_NMO_STACK.sh

MATLAB


-> CONTENTS
Create a matrix of numbers

-> CONTENTS
>> a =[1 2 3 4 5]

a =

     1    2    3     4     5

Sin function CONTENTS
>> sin(a)

ans =

         0.841470984807897         0.909297426825682         0.141120008059867        -0.756802495307928        -0.958924274663138

Plot function




-> CONTENTS
plot(ans)

Exercise 1 Simple 2D plotting  
->CONTENTS , MATLAB CONTENTS


Make a plot showing at least 10 full sine waves within the plot.

What formula did you end up with?  Complete by September 16, at 12.30

Exercise 2: Traveltime Equations 

->CONTENTS ,MATLAB CONTENTS
Plot the traveltime equation for a hyperbola and the direct wave by modifying the following code: Matlab Code
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Plot for T= 0 to 1 seconds and X= 0 to 1000 m; Plot for V1=1500 m/s

Exercise 3: An ideal seismic wave signature—“the spike” ->CONTENTS MATLAB CONTENTS


Seismic temporal resolution is defined, sometimes as ½ the dominant wavelength.
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In reflection seismology, for each reflection interface, a scaled-down copy of the incoming pulse is returned to the surface.  A single interface is mapped onto a broad pulse of 25(or less) to even 100 ms (or more) in temporal width:

Plot the following:


[image: image3.wmf]cos()cos(2)cos(3)cos(4)cos(5)

cos(6)....100terms

TTTTT

T

ppppp

p

+++++

+


Plot for T= - 2s to T = 2s, and amplitude 1 to –1. What happens as the number or terms increases?  (You should be generating a very narrow function)

Conversely, in the ideal case, what is the ideal frequency content of a narrow, high-resolution signal.   Is it a signal with very high frequency content or a signal that is narrow?  Is it a signal that is both narrow and with a very high-frequency content

You will need to generate matlab code to answer this exercise.  E-mail me the resulting code. E-mail me your answer to the question as well.  Please e-mail me this exercise by Friday, 23 September at 12.30 p.m.  Hint: You will need to learn how to use the for…end construction so that you can automatically add in 100 terms.  

Exercise 4 Constant Phase and Linear Phase  CONTENTS MATLAB CONTENTS


Take the code you generated in exercise 3 and add a constant phase to each of the frequency components and plot your results.  Try adding a phase value of 90, 180 and 270 degrees to each of the frequency components.  Plot each case. MATLAB CODE . Now add the subplot(2,2,2) case where phase value = 360 degrees.

Take the code you generated in exercise 3 and add a phase to each of the frequency component that is linearly dependent on frequency.  Us the following relation:

Phase = m * frequency where m has units of radians/Hz MATLAB CODE.  Finally, add one subplot (2,2,2) for the case where m =  40pi radians/100Hz.

You can use the links to my matlab code as an example. 

MATLAB CODE

Exercise 2- Matlab
% hyperbola

% Author: Juan M. Lorenzo

% Date: Sept. 13 2005

% Purpose: examine differences in Hyperbolic geometries

% as a function of thickness and velocity for a

% horizontal single layer case

xmin=-500;xmax=500;tmin=0;tmax=0.4

x=xmin:1:xmax; % meters

%first plot

%plot hyperobola

% traveltime equation for a hyperbola

V1=1500;

h = 50;    %thickness of first layer in meters

for V1=1000:500:3000

    t=sqrt(x.*x ./V1./V1 +1/V1/V1*4*h*h);

    subplot(2,1,1)

    plot(x,t)

    axis ij;

    hold on

end

Matlab code for exercise 4 – A study of the effects of constant phase and linear phase on a seismic wavelet
CONSTANT PHASE SHIFTS

% looking at constant phase

t= -pi/4:.001:pi/4;

clear Amplitude

phase = 0 ;

Amplitude = cos(2 .* pi .* 1 * t + phase);

for freq=2:100

    Amplitude = (Amplitude + cos (t .* 2 .* pi .* freq + phase));

end

subplot(2,2,1)

length(freq)

plot(t,Amplitude/100)

title('phase=0 deg')

phase = pi/2;

clear Amplitude

Amplitude = cos(2 .* pi .* 1 * t + phase);

for freq=2:100

    Amplitude = (Amplitude + cos (t .* 2 .* pi .* freq + phase));

end

subplot(2,2,2)

plot(t,Amplitude/100)

title('phase=90 deg')

phase = -1 * pi ;

Amplitude = cos(2 .* pi .* 1 * t + phase);

for freq=2:100

    Amplitude = (Amplitude + cos(t .* 2 .* pi .* freq + phase));

end

subplot(2,2,3)

plot(t,Amplitude/100)

title('phase=-180 deg')

Matlab code for exercise 4 – A study of the effects of constant phase and linear phase on a seismic wavelet
LINEAR PHASE SHIFTS

% looking at phase

t= -pi/4:.001:pi/4;

clear Amplitude

m = 20*pi/100

m = 0;

Amplitude = cos(2 .* pi .* 1 * t + m * freq);

for freq=2:100

    Amplitude = (Amplitude + cos (t .* 2 .* pi .* freq + m * freq));

end

subplot(2,2,1)

length(freq)

plot(t,Amplitude/100)

title('phase slope = 0 rad/Hz')

m = pi/2 /100;

clear Amplitude

Amplitude = cos(2 .* pi .* 1 * t + m * freq);

for freq=2:100

    Amplitude = (Amplitude + cos (t .* 2 .* pi .* freq + m * freq));

end

subplot(2,2,2)

plot(t,Amplitude/100)

title('phase = pi/2 rad/100 Hz ')

m = 20 * pi /100 ;

Amplitude = cos(2 .* pi .* 1 * t + m * freq);

for freq=2:100

    Amplitude = (Amplitude + cos(t .* 2 .* pi .* freq + m * freq));

end

subplot(2,2,3)

plot(t,Amplitude/100)

title('phase = 20pi rad/100 Hz')

 MODELING SEISMIC EVENTS (TOC)
mmodpg MODELING 

 HYPERLINK  \l "MODELINGSEISMICEVENTS" 
CONTENTS
There are two ways to start mmodpg. The first and easier way is to enter mmodpg on the command line, but only if you already have a file ready for input to mmodpg. If you do not then run the script that prepares the *.su file for input to mmodpg. This script is called something like process_CDP.sh or process_SP.sh.

Preparation script for mmodpg called process_SP.sh MODELING TOC
This script uses suwind and calls three scripts: massage.sh premmod and Xamine.sh At the end it does some housecleaning in your directory by removing some unwanted files. 

massage.sh filters and gains the data for input to mmodpg

premmod creates two files datammod and parmmod. The first is an *.su file without headers, i.e. it is a binary file. The second contains the number of samples, the sample interval and the number of traces. If you wish to examine the contents of premmod, you can find the location of the file by using the following command:

%locate premmod 

Xamine.sh does not affect the way mmodpg works. This script repeats the filters and gains in massage.sh and outputs the resutls to the screen for viewing by the user.

Download an example to model MODELING TOC
While logged into your lgc10 account, go to directory refseis10/TJHughes_line01 and copy over to your local directory the following file: modeling_071799.tar
Untar this file. Within the directory you create called 071799 you will find all the files mentioned above.

Prompts, their meanings, and the answers they are looking for MODELING TOC
When you start mmodpg you will be asked several questions:

Data min, max  =  -3.68090701  4.00313902

 Clip for data?                                     R*4 [  0.0400313884] 
Any amplitude whose aboslute value exceeds this will be assigned black (-ve amplitude) or white (+ve amplitude)

Time of first data sample (sec) ?                  R*4 [  0.]

Remember to use the correct units of km!!!

 Distance of first data trace (km) ?                R*4 [  0.000304799993]

 Distance between data traces (km) ?                R*4 [  0.000304799993]

 SOURCE DEPTH (KM) ?                                R*4 [  0.]

 RECEIVER DEPTH (KM) ?                              R*4 [  0.]

 TO DEFINE  PLOTTING AREA ENTER :

 REDUCING VELOCITY (KM/S), 0-FOR NONE.              R*4 [  1.] 
The reducing velocity is applied as 

Treduced = Toriginal – X/Vreduced.  A reducing velocity has the effect of making linear seismic events appear horizontal when they are “reduced” to their true apparent velcotiy in the displayed shot-receiver versus time plot. For example, a direct water event in a shot gather reduced at 1.5 km/s would appear as a horizontal seismic event.  Reducing plots by different velocities aids in the interpretation of different events. The human eye is very sensitive to seeing DEVIATIONS from the horizontal.

 MINIMUN DISTANCE (KM)?                             R*4 [  0.]

 MAXIMUN DISTANCE (KM)?                             R*4 [  0.0500000007]

 MINIMUN TIME (SEC)?                                R*4 [  0.]

MAXIMUN TIME (SEC)?                                R*4 [  0.300000012]

 1- RECHECK PARAMETERS,0- NO                        I*4 [ 0]

Familiarize yourself with the instructions inside the program. 

Extras

· xhost + (allows other machines to display on yourmachine'sname)

Creating a shell script to log in automatically
-> CONTENTS
% gedit a file called start.sh

(CONTENTS of start.sh:  )

#!/bin/sh

setenv DISPLAY localhost:10.0

--leave xedit

%chmod 755 start.sh  (make this file executable)
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